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parent→ given parent→ given
f- (x) fcx)

multiplier→ none multiplier-3-1
(mvltallijvaluesby- 1)f- (X)

shift→ right},upl
- Ifcx)

flx-31*1 shift→ down2

-5-1×1--2
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parent _sg .

parent→ given
f- (x) fcx)

multiplier-72 multiplier-2-1
(divide all"×"valvesby2) (multalliivalvesbyt)

5-thx) - lflx)
shift -svp1 shift→ right}
f-(Zx) -11
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parent→ given The absolute values
f- (X) means there cannot

multiplier -7-42 beany negative
(multiply all"y

"

values by -42)
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- Yzflx)
shift→ Left}down /

-425-1×-12) - I
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parent→ given parent→ given
f- (x) fcx)

multiplier→ none multiplier-7-2
shift→ right 4,vp2 Cmvltalliivalvesby-2)

f- (11-4)+2 -Zfcx)
shift→ right-4,vp3
-25-1×-4) -13
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parent→ given parent→ given
f- (X) fcx)

multiplier -744 multiplier-70.2

(multiply alliivahesbyyu) (diridealliivalsbyo.pl/4fcx) f(0.2×3
shift→ down 6 shift→ up3
441-1×7-6 f- (0.2×3+3
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parent→ given parent→ given
fcx) fcx)

multiplier -2-1 multiplier→2

(multiply all"y"valsby -1) (multiply all"y"vabby2)
- lfcx) Zfcx)

shift _sup4 shift→ lefts
-fix) -14 25-1×-15)



parent→ given parent→ given
fcx) fcx)

multiplier→none multiplier -Yz
shift→ right},vpl (multiply all"y"va1sby-Yz)
fcx-3) -11 -Yzflx)

shift → left2. down
- 425-1×+2)-1
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parent→ given parent→ given
fcx) fcx)

multiplier-72 multiplier-7-2

(divide all"×"valsby2) (multiply all "y"valsby-2)
f-(2x) -Zfcx)

shift → upl shift→ right't,vp3
f(2×3+1 -25-1×-4)-13


